KEY

Math 225: Quiz the Third
February 13, 2015

This quiz is closed book and closed notes. Please justify all of your answers. You have the remainder
of the period.

v MATH: LANGUAGE OF LOVE.
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1. Identify the following surfaces, and answer the related questions (Hint: Put these in ‘standard’
form).

(a) 3222 = 222 + 72y* + 288 (Give permissible values for z)
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(b) 3222 + 72y + 222 = 288 (Give maximum values for z, y, and z).
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(c) 1822 + 2y + 3222 = 0 (Give the axis of symmetry and ‘direction’ of this graph)
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2. (a) Find the equation of the line containing the points (0,1,4) and (2,2,3). Give at least two
different forms.
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(b) Find the equation of the plane perpendicular to the line in (a), through the point
(-1,2,11).
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(c) Find the point of intersection of the line in (a) and the plane in (b).
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3. Consider the lines
z—1 y—2 243

3 -6 3

and

z—1 y+1 242
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(a) Explain why the lines are parallel.
R D T
(3/ "é/ 30 = 2 ( e

e AS L ,
Feen s degp ran vecls w paralld

(b) Find the plane containing these two lines.
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4. (a) Find the point of intersection of the lines

z=t—1,y=10-3¢, z=1

c=4+3t, y=5+t z2=1—1
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Find the angle of intersection of these two lines. (More than one answer possible).
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5. (Bonus) You may have half a point or one and a half points Extra Credit. Note: If more than
25% of you pick one and a half points, no one gets anything.



